
 

 

Q.1 Write down the Number Names according tothe Indian System. 

 

 

 

 

 

 

 

 

Q.2. Read the Number Name, Find and Write the Number. 

 

 Number Number Name 

1.a 14,32,189 Fourteen lakh thirty two thousandone 
hundred eighty nine 

   1.b 1,44,57,098   _ _ _ ? _ _ _ 

1.c 16,61,25,425   _ _ _ ? _ _ _ 

 Number Names Number 

2.a Four lakh Thirty Two Thousand Eight Hundred 
and seventy five. 

_ _ _ ? _ _  

2.b One crore Ninety Lakh Eight Thousand One 
Hundred and Forty Five 

_ _ _ ? _ _  

2.c Six crore Six Lakh Six Hundred and Sixty Six _ _ _ ? _ _  



 

Q.3. Read the Number below and Write down the Place Value and Face 

Value of Underlined Number. 

 

 

 

 

 

 

 

 

Q 4. Match the Following from Column A & Column B. 

 Column A  Column B 

1 Two Million Fifty Thousand 
and ten 

a 43,242 

2 40,03,604 b 55,09,002 

3 40,000+3000+200+40+2 c 2,050,010 

4 Fifty Five Lakhs Nine 
Thousand Two 

d 40,00,000+3000+600+4 

 

Q 5.Insert the Correct Sign <, > or = in the box. 

Sr. 
No. 

Number Place Value Face Value 

3.a 7,12,32,189   

3.b 14,04,57,098   

3.c 46,02,187   



 

5 a   518  581 

5 b   12809  12089 

5 c   11,010  11,010 

5 d   32,168  32,186 

  

Q 6. Write Smallest and Largest Number Using below Digits, each 

digit only once. 

6.a)   5,2,8,9,0 

Smallest Number –    

Largest Number  -- 

 

6.b)   1,2,4,5,7,8 

Smallest Number –   

Largest Number -  

Q .7. Arrange below Numbers in columns and make addition of those. 

1. 7, 42,524 + 1, 35,243=   

 

2. 2,76,532 + 2,89,761 =  

 



 

3. 14,375 + 27,635 + 34,325 =  

 

Q. 8. Multiply by writing vertically. 

1. 23312 x 2 =  

2. 44613 x 42 =  

3. 3256 x 513 = 

    *********************************************************** 

Q 9. Rakesh Ordered 48 gross of pencils for his shop. One Gross is 

144. How many pencils did Rakesh order? 

Ans :- 

 

 

 

********************************************************* 

Q 10. Philips International Ltd. Sold 2,767 CFLs at the rate of Rs. 175 

per CFLs in the first year and 2,979 CFLs at the same rate next year. 

Find the Increase in their earnings in the second year.   

Ans : - 

 

 


